
WJEC 2017 Online Exam Review

GCSE SOCIOLOGY Unit 1 4511-01 

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 4106 5.8 0.7 6 97 100
2 4106 3.3 1.4 5 65.3 100
3 4106 8.6 2.8 14 61.7 100
4 4106 7.1 2.1 11 64.5 100
5 4106 9.8 2.8 15 65.2 100
6 4100 5.3 2 9 58.7 99.8
7 3505 17.6 7.8 40 43.9 85.4
8 434 17.7 8.1 40 44.3 10.6
9 139 19.7 10.3 40 49.4 3.4

10 24 6.5 4.1 40 16.4 0.6
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Sociology - Unit 1 
 


Compulsory Core  
 


Question Answer Mark
s 


1 One mark for each correct answer: 
Work, nature theory, formal socialisation, questionnaire, culture, ethics. 


6 


2a Award one mark for any suggestion that is drawn directly from the 
passage, such as being ‘blackened’ or wearing a kilt. 


1 


2b Award one mark for any answer suggesting that this term refers to the 
process of passing on a custom through the generations. 


1 


2c Unacceptable answers will not explain the term cultural relativity. 
One mark is awarded to very basic answers that depend on the item:  
Traditions vary from culture to culture. 
Two marks each will be awarded to more detailed explanatory answers 
that apply some understanding to the question or offer an example. 
Traditions vary from culture to culture and people have different ways of 
behaving. 
Three marks are available for a full answer that includes and 
explanation and an example: 
Traditions vary from culture to culture and people have different ways of 
behaving, so in some cultures, the bride and groom may not see each 
other before a wedding. 


3 


3a Award one mark for a social explanation that gender is a set of 
behaviours socially expected of the different sexes.  
Biological explanations will not be rewarded. Personal or individual 
answers will not be rewarded. 


1 


3b Unacceptable answers will not explain gender gap or will use the term to 
explain itself: gender gap is when there is a gap between genders. 
One mark is awarded to basic answers that suggest it is a difference 
between genders without development or reference to the item: 
Gender gap is when men and women are treated differently. 
Two marks will be awarded to full and detailed answers that use the 
item There should be some sense of inequality: 
Gender gap is when men and women are treated differently, so men 
earn more from sport than women. 


2 
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3c Unacceptable answers will not explain inequality or will use the term to 
define the term: Media is the media we use. 
One mark is awarded to basic answers that explain media or use and 
example in some way without specific sociological detail: 
Media is a television or newspaper. 
Two marks each will be awarded to full and detailed answers that apply 
sociological understanding to the question or develop the point with an 
example. Accept any reasonable example: 
Media is a form of communication that reaches many people, e.g. 
television. 


2 


3d Unacceptable answers will not define give reasons why male sports are 
reported more than female sports. They may be factually incorrect or 
offer no insight into social control. 
One mark each is awarded to a basic example: 
More people like men’s sports. 
For two marks there will be some development or explanation in general 
terms: 
Men’s sports are more popular, so there are bigger audiences for male 
sport. 


4 


3e The most appropriate method is an observation as qualitative data is 
sought. This is one mark. Accept reasonable alternatives such as a 
unstructured interview. 
For one further mark accept one common sense reason, such as it 
collects data about how people actually behave. Only one reason is to 
be accepted. If a variety of reasons is offered, then accept the best and 
ignore the rest.  
For two marks, there should be sociological content or a useful 
contextual point, such as mention of terms such as depth, validity, 
reality. Evidence of understanding that the topic may influence the 
method chosen is to be rewarded. 


1+2 


3f Unacceptable answers will offer responses that do not address the 
issue or simply offer answers that are common sense.  A problem 
should be clearly identified and contextualised. It should be practical 
and not methodological. 
One mark is awarded to basic answers that may offer a specific problem 
such as ethics, or which offer an account of that method without 
sociological content: 
One problem is that it takes a lot of time. 
Two marks will be awarded to full answers which offer both a problem 
and/or specific understanding of the research process either in terms of 
technical language or context. There will be sociological content and 
terminology: 
One problem is that it takes a lot of time, so the researcher will have to 
attend a lot of matches. 
Other problems might include expense, not being able to cover the 
behaviour of everyone, ethics of watching without consent. 


2 
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4a To make sure she got up in time for school. 1 


4b 
The process of learning the expected rules of a culture outside the 
home. 
An extra mark is available for an example or for context and 
development. 
Do not accept suggestions that it is the kind of socialisation that begins 
after the age of 5 or some such, unless there is clarification. 


 


4c 
Unacceptable answers will offer responses that do not address the 
issue or simply offer answers that are common sense.  The term may be 
used to explain itself. 
One mark is awarded to basic answers or answers taken from question 
1: 
We copy role models. 
Two marks will be awarded to full answers. There will be sociological 
content and terminology: 
Role models are people we imitate in order to learn the norms and 
values of our society. 


2 


4d 
One mark is available for a simplistic comment linking teachers to good 
behaviour. 
A second mark is available for an example that is not developed, 
perhaps being just an example. 
Three marks are available for an answer which shows understanding of 
the terms and offers a simplistic account of process but is common 
sense in approach. 
Four marks are  available for answers which define the terms and 
explain the debate with some sociological language and understanding 
explicit. 
Five marks are available for a full and developed answer that offers 
mention of teacher behaviour pupil responses, and perhaps uses 
technical language such as role models, stereotypes. 


5 


4e Unacceptable answers will show no understanding of the term sampling. 
For one mark accept any named sampling method that will produce a 
representative sample: quota, random, systematic. 
For second mark, credit anything that shows some understanding of the 
sampling process. 


2 


5a By offering free gifts or any other suggestion from the passage. 1 


5b For one mark look for a biological definition, or an age definition: 
Childhood is people who are young or an age definition. 


1 


5c Norms are socially expected behaviours that are seen as normal.  
The second mark is for an example. Only clearly obvious examples of 
norms are to be accepted. If there is doubt, then disregard. 


1 + 1 
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5d For one mark accept the comment that young people use a lot of media 
or can be affected by the media. 


For two marks, look for something that develops the point either with an 
example, reference to an example or use of sociological language. The 
linking of the two ideas is acceptable: 


The item shows young women that it is normal to use make up. 


For three points, look for development and reference to the media. The 
example should clearly be a norm and not a value or more: 


The item shows young women that it is normal to use make up, for 
example, because magazines suggest that all young women want make 
up. 


3 


5e Unacceptable answers will offer responses that do not address the 
issue or simply offer answers that are common sense. 
One mark is awarded to a very basic answer that may be 
underdeveloped but shows some understanding that media messages 
are powerful or referring to ideas that are constantly repeated. 
Two marks will be awarded to responses that are detailed and full but 
do not have an example or sociological language, perhaps using the 
idea that children are vulnerable to suggestion from the media: 
The media because they put across powerful messages to everyone 
about things we should believe, for example, that women should be 
concerned with beauty. 


2 


5f i) Strengths include reliability, ease of administration, large 
samples, relatively low costs. 


ii) Weaknesses include lack of depth, validity issues, non 
response. 
 


One mark is available for a statement, a second for a sociological term 
or for some form of context related directly to the context of the problem. 


2 + 2 


5g Unacceptable answers will offer responses that do not address the 
ethical issue or simply offer answers that are common sense.  
One mark is awarded to basic answers either name or explain an ethical 
issue. 
Two marks will be awarded to full answers which name and accurately 
explain a ethical issue or offer a sense of context. 


2 


6a Accept anything that suggests the way our behaviour is affected and 
limited by people around us. 


1 


6b One mark is available for a description of one way such as punishment. 
For two marks accept any suggestion that develops the point or refers to 
context, process or theory. 


2 
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6c Award one mark to a basic answer. Primary socialisation will be defined 
as taking place in the first years of life, perhaps from 0 - 5 or a similar 
misunderstanding. 
Primary socialisation will be defined in terms of passing on norms and 
values in the family for two marks. 
For three marks, there will be specific development of the term, so that 
there may be reference to functionalism, or some process will be 
identified. 


3 


6d One mark is available for a simplistic comment drawn from the item. 
A second mark is available for an example that is not developed. 
Three marks are available for an answer which shows understanding at 
a common sense level and which addresses the issue with some 
sociological language and understanding explicit. 


3 4 
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Sticky Note

6 marks







Sticky Note

One mark for answer drawn from the item.



Sticky Note

This answer was awarded one mark. Tradition is something 'usually done in a culture' and the example was seen as enough. Some found this difficult even though the item gave lots of clues.



Sticky Note

Zero marks awarded as no understanding of the term was shown.







Sticky Note

Zero marks awarded as the answer related gender to biology. There had to be a social aspect to gain this mark.



Sticky Note

One mark awarded. The answer referred to the item but needed to say more than 'the difference between the two sexes'. More detail needed for two marks.



Sticky Note

One mark awarded for naming social media as an example of media. This was at the weakest end of what could be allowed a mark. To get two marks candidates needed to explain the idea of media as a means of communication with a large audience, plus an example.







Sticky Note

One mark for reason one. This is a basic reason that men are seen as superior.





Sticky Note

Zero marks for reason two which is seen as a repeat of reason one.



Sticky Note

One mark for accurate naming of method.



Sticky Note

The answer received zero marks as the point made is not seen as valid.



Sticky Note

Zero marks for a valid point. Some candidates did gain some credit for the argument that researchers could be at risk at a sporting event.







Sticky Note

One mark for valid use of the item.



Sticky Note

Two marks awarded for the knowledge that secondary socialisation is from outside the family and the use of examples. 





Sticky Note

Two points for accurate explanation and example.







Sticky Note

Two marks awarded out of four. Stronger answers included the use of concepts , such as modelling or imitation. Alternatively, the description of how the teachers behaviour affects the student was more effective than merely explaining how a teacher acts.



Sticky Note

One mark for suggesting a suitable method. The definition was of a quota sample and therefore did not get the second mark. The two needed to go together to achieve this.







Sticky Note

One mark for accurate description using the item.



Sticky Note

A narrow idea of childhood which was deemed not worth a mark. 

Candidates were more successful where they focussed either on the nature of childhood as a time of innocence or on legal ages.



Sticky Note

One mark awarded for the example. o credit was given for answers that tried to explain norms though the use of the word normal alone. Reference to expectations o behaviour or unwritten rules was needed.







Sticky Note

One mark awarded for the idea of social media. Further development and use of terminology would be needed to gain further marks. The question also required reference to norms to gain all three marks.



Sticky Note

Two marks awarded for the idea that it puts pressure on children and the explanation of this.



Sticky Note

Vague answer which made no valid points. Zero marks.



Sticky Note

One mark for the idea that respondents may not tell the truth. The answer needed to use terminology, such as validity or supply a reason for the lack of truthfulness for two marks.







Sticky Note

One mark for the idea of them being under 18. For the second mark, they would have needed to add terminology, such as parental permission.







Sticky Note

Zero awarded for an unconvincing explanation.



Sticky Note

One mark for an explanation which lacked development.



Sticky Note

Two marks awarded for two clear points. The idea that it takes place in the family and that is the first part of socialisation gained credit. Further development could have included the idea that is is the most powerful aspect of socialisation and/or what happens when it goes wrong/







Sticky Note

Zero marks for a lack of explanation.
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Sticky Note

Six marks.







Sticky Note

One mark awarded for using the iem accurately.



Sticky Note

One mark for the idea of olden rules and the notion that it has been passed down through generations.



Sticky Note

Two marks for an understanding of what cultural relativity is about. The answer needed to state more explicitly  a defintion.







Sticky Note

One mark for a well developed answer which more than answered the question.



Sticky Note

Both marks awarded for effective use of the source and the idea of the gender gap made clear.



Sticky Note

Two marks for this answer which has an assured definition and example.







Sticky Note

Reason one has some development linked to the idea of greater profit. This gains two marks.



Sticky Note

Reason 2 was not awarded any marks as it was seen as vague. Therefore, two marks overall.

Stronger answers featured the use of concepts such as patriarchy and sexism to create stronger sociological reasoning.



Sticky Note

One mark for an accurate identification of a method.

Being so specific also helped to gain both marks for the next part. Technical language used accurately and developed.



Sticky Note

Zero marks awarded. This was not seen as a valid point.

Candidates generally found it difficult to identify practical problems. Some of those identified included danger and the difficulties in noticing and recording everything that is going on at a large event.







Sticky Note

One mark for accurately using the item.



Sticky Note

One mark for the idea of school as part of secondary socialisation. The answer lacked the sense of how it takes place outside of the home and family.



Sticky Note

One mark only awarded. The idea of a role model was not developed here.







Sticky Note

Full marks awarded for an answer that grasped the sense of process and the way in which teachers act as role models. The idea of imitation also strengthened the answer.



Sticky Note

Two marks for accurate description of an appropriate sampling method.







Sticky Note

One mark for accurate description.



Sticky Note

One mark for the idea of the early stages of a person's life.



Sticky Note

One mark for an accurate definition of norms. Lacked an example for the second mark.







Sticky Note

Three marks awarded for good use of technical language which was linked to the norms about womens youth and beauty.



Sticky Note

A strong answer with the ideas of peer pressure and vulnerability. Two marks awarded.



Sticky Note

Two marks for the implicit strengths of questionnaires and use of technical language with accuracy.



Sticky Note

Two marks for accurate identification and explanation of one weakness. Technical language is used and the weakness is related to the specific context.







Sticky Note

Two marks awarded for accurate identification of an ethical problem backe dup with terminology.







Sticky Note

More than enough for one mark with references to rules of behaviour and law.



Sticky Note

Two marks for accurate use of the item and the importance of this.



Sticky Note

Two marks awarded. The candidate missed the opportunity to either make further development or to use more sociological language.







Sticky Note

Two marks for an explanation of how the parents may pass on culture to their children. Sociological language could have gained  the third mark. Basic concepts , such as socialisation could easily have been a feature of this answer.
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(4511-01)


Examiner
only


SECTION A


Answer all the questions in the spaces provided on the paper.


1.	 Use the terms in the box below to answer the questions.


© WJEC CBAC Ltd.


Nature theory         formal socialisation         work         culture


questionnaire         ethics


	 (a)	 What term is used to describe jobs that we do for a purpose and which are usually paid?
			   [1]
		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (b)	 What term is used to describe the idea that people act as they do because they are born 
that way?	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (c)	 What term is used to describe a process where people deliberately try to change a 
person’s behaviour?	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (d)	 What term is used to describe a research method where questions are written down and 
people may choose answers?	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (e)	 What term is used to describe the way of life of a group of people? 	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (f)	 What term is used to describe the idea that research should not harm people who take 
part?	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  
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2.	 Look at the item below and answer the questions that follow.


	 (a)	 Using the item, identify one Scottish wedding tradition. 	 [1]


	


	


	 (b)	 Define the term tradition. 	 [1]


	


	


	 (c)	 With an example, explain the meaning of the term cultural relativity. 	 [3]


	


	


	


	


	


© WJEC CBAC Ltd.


Although all cultures have some form of wedding, traditions vary from culture to culture. 
For example, in some parts of Scotland, it is a tradition for a bride and groom to be 
‘blackened’ before the wedding. This old custom consists of tying the couple together 
and putting them in a wheelbarrow. Their friends then parade them through the streets. 
Other people will throw rubbish, soot and eggs at the couple. It is believed it will give 
them good luck when they are married.


5
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(4511-01)


Examiner
only


3.	 Look at the item below and answer the questions that follow.


© WJEC CBAC Ltd.


	 (a)	 Define the meaning of the term gender. 	 [1]


	


	


	 (b)	 Using the item, explain the meaning of the term gender gap. 	 [2]


	


	


	


	


	


	 (c)	 With an example, explain the meaning of the term media.	 [2]


	


	


	


	


	


A 2014 study into sporting prize money found that there is a gender gap in the prize money 
that sportsmen and sportswomen can win. Less than half of the sports competitions 
that were studied pay men and women equal prizes. For example, the winning men’s 
team in World Cup Football won £22m but the women’s team got £630,000. The sports 
competitions with the biggest gender prize gaps are in football, golf and cricket. The UK 
Minister for Sport at the time said that there should be more media coverage and money 
invested in female sports competitions.
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	 (d)	 Suggest two sociological reasons why male sports competitions are more likely to be 


reported in the media than females’ sports competitions.	 [4]


	 (i)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


	 (ii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	


	


	 (e)	 A researcher is investigating the behaviour of fans at large sporting events. Suggest a 
suitable method that could be used and explain one reason why you chose it.	 [1+2]


	 (i)	 Method


	


	 (ii)	 Reason for your choice of method


	


	


	


	


	


	 (f)	 Outline one practical problem that a researcher might experience when conducting 
research into the behaviour of spectators at large sporting events.	 [2]


	


	


	


	


	


© WJEC CBAC Ltd.
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4.	 Look at the item below and answer the questions that follow.


	 (a)	 Using the item, briefly explain why the teacher rang the pupil every morning.	 [1]


	


	


	 (b)	 What is the meaning of the term secondary socialisation?	 [2]


	


	


	


	


	 (c)	 Explain the meaning of the term role models.	 [2]


	


	


	


	


	


© WJEC CBAC Ltd.


In 2015, Channel 4 showed a television programme based on a school in Cardiff. The 
Head teacher allowed cameras into school because she believed that her pupils could 
be good role models for other young people. The Head teacher and staff were shown 
checking pupils’ uniforms and making sure that they followed school rules. One teacher 
rang a pupil every morning to make sure that she got up in time for school. Eventually, the 
pupil stopped missing school and did quite well in her examinations.
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	 (d)	 With an example, explain, using sociological language, how teachers may act as role 


models for pupils in schools. 	 [4]


	


	


	


	


	


	


	


	


	


	


	 (e)	 A researcher wishes to obtain a representative sample of children in a large school. 
Describe a sampling technique that could be used. 	 [2]


	


	


	


	


	


© WJEC CBAC Ltd.
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Examiner
only


5.	 Look at the item below and answer the questions that follow.


© WJEC CBAC Ltd.


A study by a research organisation, Mintel, found that girls as young as seven are using 
make-up and going on diets. Teen magazines are said to encourage this behaviour 
by offering free cosmetics and vouchers for spray tans to children as young as ten. 
Teachers’ unions and child safety charities have said that children should be free to enjoy 
childhood without pressure from the media. 


	 (a)	 Using the item, describe a way in which teen magazines encourage young girls to use 
make-up.	 [1]


	


	


	 (b)	 Define the meaning of the term childhood.	 [1]


	


	


	


	


	


	 (c)	 Explain, with an example, the meaning of the term norms. 	 [2]
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	 (d)	 Using an example, describe one way in which the media may transmit norms to young 


people.	 [3]


	


	


	


	


	


	


	 (e)	 Explain one reason why teachers and charities have suggested that the media should not 
advertise adult goods, such as make-up, to children.	 [2]


	


	


	


	


	


	 (f)	 Researchers are using a questionnaire to investigate whether young girls feel that they 
are affected by what they read in magazines.


	 (i)	 Explain one strength of using this method.	 [2]


	


	


	


	


	 (ii)	 Explain one weakness of using this method.	 [2]


	


	


	


	


© WJEC CBAC Ltd.
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© WJEC CBAC Ltd.


	 (g)	 Identify and explain one ethical problem that could be experienced by researchers who 
want to understand how young people feel about body image.	 [2]


	


	


	


	


	


15
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(4511-01)


Examiner
only


6.	 Look at the item below and answer the questions that follow.


© WJEC CBAC Ltd.


In 2015, a High Court judge said that the job of parents is to make children do things that 
they may not want to do. Parents should exercise social control over their children. He 
said that parents should confiscate phones and threaten their children to ensure that they 
did what was good for them, such as working hard in school or doing homework. In his 
view, teenagers are hard work, but good parents make their children do things that are 
difficult and challenging. 


	 (a)	 Define the meaning of the term social control.  	 [1]


	


	


	 (b)	 Using the item, explain one way in which parents may exercise control over their children.
			   [2]


	


	


	


	


	


	 (c) 	 Explain the meaning of the term primary socialisation.	 [3]
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	 (d)	 With an example, explain one way in which parents may pass on their culture to their 


children.	 [3]
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7(a) Level 1 – Limited (0 – 2 marks) 
 
Limited answers will offer responses that display little 
evidence of knowledge or understanding. If some relevant 
factual material is used then up to 2 marks are available. The 
quality of written communication will be basic. 
 
Level 2 Basic (3 -5 marks) 
 
Three marks are available for basic answers that may address 
the question but that may be underdeveloped and vague. The 
information offered will be basic and sociological language will 
not be used accurately.  
 
At the upper end of this mark band, there may be mention of 
two specific points but this will not be in detail and there will be 
errors of fact. The quality of written communication will be 
acceptable, although there may be errors of spelling and 
punctuation. 
 
Level 3 Breadth or Depth (6 - 8 marks) 
 
Six marks are available for answers that offer a clear 
reference to the terms of the question, though description may 
be underdeveloped. There will be evidence of breadth or 
depth of knowledge and understanding. 
 


5 
5 


AO 1 
AO 2 


 The information offered will display accuracy and sociological 
language will be used. At the upper end of this mark band, 
there will be specific mention of at least two points, though the 
answer may lack balance.  The quality of written 
communication will be clear, with few errors of spelling, 
grammar and punctuation. 
 
Level 4 Breadth and Depth (9 -10 marks) 
 
Nine marks are available for detailed answers that offer a 
specific and accurate knowledge or understanding of 
sociology. The information offered will display accuracy and 
sociological language will be used.  
 
At the upper end of this mark band, understanding will be 
displayed through contrasting and comparative descriptions. 
At this level, there will be a balanced response, perhaps with 
reference to theory or research if applicable. Answers will 
demonstrate a good application of knowledge. The quality of 
written communication will be good, with few errors of spelling, 
grammar and punctuation. 
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(b) Explain reasons why fewer couples are choosing to get married than in the past. [10] 
 


Look for answers that may offer a list of reasons for changes in marriage patterns. It 
may be that a number of suggestions are considered and answers display breadth or 
that two reasons are considered but answers display depth of understanding. The 
focus must be on social change and perhaps mention of wider society such as work 
but it should be related to the family and marriage patterns. Answers should be 
explanatory and not descriptive. 
 
Answers that respond in only a personal, common sense or emotional fashion may 
be credited if this can be justified sociologically but should not appear in the top two 
mark bands. 


 
Credit: 


 Accurate use of sociological language, concepts and theory, if relevant 


 Changing work patterns 


 Cost of weddings 


 Ease of separation and avoidance of divorce 


 Secularisation 


 Contraception and abortion through choice 


 Education (and by implication – student loan and career establishment) 


 Norms, values and mores 


 Expectations 


 Divorce and singlehood 


 Unemployment 


 Equal opportunities for women 


 Applied examples that may have been studied in class 
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7(b) Level 1 – Limited (0 – 2 marks) 
 
Limited answers will offer responses that display little 
evidence of sociological knowledge or understanding. If some 
relevant factual material is used then up to 2 marks are 
available. The quality of written communication will be basic. 
 


There will be little or no evidence drawn from different 
sources. 
The quality of written communication will be basic 
 


Level 2 Basic (3 - 5 marks) 
 


Up to five marks are available for basic answers that may 
address the question. Responses may be underdeveloped 
and vague. The information offered will be minimal and 
sociological language will not be used accurately.  
 


At the upper end of this mark band, there may be specific 
reference to explanations. There may be evidence of 
emotional involvement and bias. There will be some evidence 
drawn from different sources including practical applications. 
This may be interpreted. 
 


The quality of written communication will be acceptable, 
although there may be errors of spelling and punctuation. 
 


Level 3 Breadth or Depth (6 - 8 marks) 
 


Six marks are available for answers that offer a clear 
reference to specific reasons though evaluation and analysis 
may be unbalanced. There will be evidence of breadth or 
depth of knowledge and understanding. 
 


The information offered will display accuracy and sociological 
language will be used. At the upper end of this mark band, 
there may be specific reference to the question. Not all points 
may be present or equally detailed. 
 


The quality of written communication will be clear, with few 
errors of spelling, grammar and punctuation. 
 
Level 4 breadth and Depth (9 - 10 marks) 
 
Nine marks are available for detailed answers that offer a 
specific and accurate knowledge or understanding of the 
question. The information offered will display accuracy and 
sociological language will be used.  
At the upper end of this mark band, understanding will be 
displayed throughout the question. There may be reference to 
theory. 
Answers will demonstrate a good application of knowledge 
with examples and specific factual evidence.  
The quality of written communication will be good, with few 
errors of spelling, grammar and punctuation. 


5 
5 


 


AO 1 
AO 2 
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(c) Using sociological knowledge, discuss reasons for changes in divorce rates in 
modern Britain. [20] 


 


Look for answers that may offer specific discussion of reasons why there are 
changes in patterns of divorce, perhaps identifying forms of change and offering 
reasons for family change. There may be reference to the ideology of the nuclear 
family and how it is in decline. There should be reference to a variety of arguments. 
Myth-based answers or personal accounts such as increasing numbers of teenage 
mothers or increasing adultery should be disregarded. 


List-like and overly descriptive answers should not appear in the top two mark bands. 
There may be some evidence of analysis or judgements relating to the significance of 
social change so that some factors are seen as more important than others. 


 
Credit 


 Accurate use of sociological language, concepts and theory, if relevant 


 Family ideology 


 Secularisation 


 Anthony Giddens and families of choice 


 Post familial society 


 Changing norms and values  


 The increase of women in the workplace and status in society increased choice of 
family type  


 Changing role of men 


 Legal changes 


 Applied examples that may have been studied in class 
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7(c) Level 1 – Limited (0 – 4 marks) 


Unacceptable answers will offer responses that display no 
evidence of knowledge or understanding of social structures, 
processes or issues. If some minimal relevant factual material 
is used then a mark is available. The quality of written 
communication will be basic. 


Level 2 Basic (5 - 10 marks) 


Five marks are available for basic answers that may address 
the question but that will be underdeveloped and vague. The 
information offered will be minimal and sociological language 
will not be used.  


At the upper end of this mark band, there may be specific 
reference to social change, addressing issues such as female 
equality or changing norms and values. The quality of written 
communication will be acceptable, although there may be 
errors of spelling and punctuation. 


Level 3 Breadth or Depth (11 - 15 marks) 


Eleven marks are available for answers that offer a clear 
reference to specific and clearly identified references to the 
question, perhaps with reference to specific relevant 
sociological knowledge though descriptions may be 
underdeveloped.  


The information offered will display accuracy and sociological 
language will be used. At the upper end of this mark band, 
there may be specific reference to social issues and policy. 
There may be reference to current debates. The quality of 
written communication will be clear, with few errors of spelling, 
grammar and punctuation. 


Level 4 Breadth and Depth (16 -20 marks) 


Sixteen marks are available for detailed answers that offer a 
specific and accurate knowledge of understanding of 
sociology: concepts, society and social theory. The 
information offered will display accuracy and sociological 
language will be used.  


At the upper end of this mark band, understanding may be 
displayed through contrasting and comparative reference to 
change and of family ideology. There may be an 
understanding of the multi-factorial nature of change, so that 
no-one change can take place in isolation. Answers will 
demonstrate a good application of knowledge with examples 
and specific factual evidence. The quality of written 
communication will be good, with few errors of spelling, 
grammar and punctuation. 


5 


5 


10  


AO 1 


AO 2 


   


 












Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Sticky Note

Mentions changes in social norms but could have taken this further.
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Mentions more flexible roles.
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Sticky Note

Simplistic view of how things have 'swapped around".



Sticky Note

The response has some merit but lacks any real sociological bite. Stronger candidates referred to studies and the impact of feminism.

Four marks awarded.
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Sticky Note

This paragraph lacks focus on the question and any real  sociological focus.



Sticky Note

Final paragraph makes a summary and introduces the idea of religious decline using technical language accurately.

This answer would receive seven marks for the breadth of ideas and accurate use of a range of terminology.
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Sticky Note

Not a clear line of argument here.



Sticky Note

The answer attempts to use theory here but finds it hard to make valid connections.



Sticky Note

The section on women's independence is one of the stronger sections.

Feminism could have been used here to strengthen the answer.







Sticky Note

The conclusion lacks clarity about what is actually being concluded about the reasons.



Sticky Note

Overall, the essay struggles to create a genuine sense of discussion about the reasons. It may have helped to discuss these and consider the relative importance of each.

Other areas missed were the changes to socialisation about divorce. The impact of the media and the experiences of other family members.

This essay was awarded twelve marks out of twenty. The number of sociological ideas included gave it some breadth, but greater depth of explanation was needed.
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Identifies changes in the roles, but fairly basic.
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Relates here to work rather than family.







Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Sticky Note

The answer has a fair few ideas, but lacks sufficent depth. It covers a range of ideas about changes in role, power, equality and parenting. Stronger answers related to studies , such as the symmetrical family and Wilmott and Young.
Six marks awarded.
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This answer again had a few ideas but lacked real breadth and depth. There was seen to be enough breadth to gain six marks. More sociological ideas and language would have strengthened the answer.
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Impact of legal changes considered.



Sticky Note

Opportunities for more sociological content, such as norms and values missed here.



Sticky Note

Changes in attitudes are considered here.







Sticky Note

This essay has a reasonable range of ideas and explanations. There needs to be more discussion generated about the different reasons. The answer also lacks a range of sociological concepts which could have strengthened it. For example, secularisation, family ideology and changing norms and values.



Eleven marks awarded.
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SECTION B


Answer parts (a), (b) and (c) of one of the following questions.


Question 7	 Family


	 (a)	 Describe ways in which the roles of men and women in the family have changed in recent 
years.	 [10]


	 (b)	 Explain reasons why fewer couples are choosing to get married than in the past.	 [10]


(c)	 Using sociological knowledge, discuss reasons for changes in divorce rates in modern 
Britain.	 [20]
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9(a) Level 1 – Limited (0 – 2 marks) 
 
Limited answers will offer responses that display little 
evidence of knowledge or understanding. If some relevant 
factual material is used then up to 2 marks are available. The 
quality of written communication will be basic. 
 
Level 2 Basic (3 -5 marks) 
 
Three marks are available for basic answers that may address 
the question but that may be underdeveloped and vague. The 
information offered will be basic and sociological language will 
not be used accurately.  
 
At the upper end of this mark band, there may be mention of 
points but these will be limited. Any medium many offer the 
basis of an acceptable response. The quality of written 
communication will be acceptable, although there may be 
errors of spelling and punctuation. 
 
Level 3 Breadth or Depth (6 - 8 marks) 
 
Six marks are available for answers that offer a clear 
reference to sociological points though descriptions may be 
underdeveloped. There will be evidence of breadth or depth of 
knowledge and understanding. 
 
The information offered will display accuracy and sociological 
language will be used. At the upper end of this mark band, 
there may be specific description. There may be unevenness 
so that some things are mentioned in detail, but others are 
not. The quality of written communication will be clear, with 
few errors of spelling, grammar and punctuation. 
 
Level 4 Breadth and Depth (9 -10 marks) 
 
Nine marks are available for detailed answers that offer a 
specific and accurate knowledge of the media and which are 
sociological in tone. The information offered will display 
accuracy and sociological language will be used.  
 
At the upper end of this mark band, examples are sought. 
Specific mention of any internet usage is an acceptable 
response but at this level, there will be a balanced response, 
perhaps with reference to theory or research or with a clear 
understanding of social elements of internet use. Answers will 
demonstrate a good application of knowledge. The quality of 
written communication will be good, with few errors of spelling, 
grammar and punctuation. 


5 
5 


AO 1 
AO 2 
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(b)  Explain how editors choose news stories. [10] 
 


Look for answers that may offer specific understanding news values, agenda setting 
and gate keeping. Answers should display depth of understanding and offer a clear 
statement of processes. They should offer examples. There will be explicit 
contemporary examples apparent.  
 
Credit: 


 Accurate use of sociological language, concepts and theory, if relevant 


 Targeted markets 


 News values 


 Readership  


 Ethnocentricity  


 References to theory or research, for example: cultural effects, hypodermic 
syringe 
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9(b) Level 1 – Limited (0 – 2 marks) 
 


Limited answers will offer responses that display little 
evidence of knowledge or understanding. If some relevant 
factual material is used then up to 2 marks are available. The 
quality of written communication will be basic. There will be 
little or no evidence drawn from different sources. No 
examples will be apparent. The quality of written 
communication will be basic 
 


Level 2 Basic (3 - 5 marks) 
 


Up to five marks are available for basic answers that may 
address the question. Responses may be underdeveloped 
and vague. The information offered will be minimal and 
sociological language will not be used accurately.  
 


At the upper end of this mark band, there may be specific 
reference to the terms of the question, though responses may 
be generalised and vague. There will be some evidence 
drawn from different sources including newspapers and 
television. This may be interpreted. 
 


The quality of written communication will be acceptable, 
although there may be errors of spelling and punctuation. 
 


Level 3 Breadth or Depth (6 - 8 marks) 
 


Six marks are available for answers that offer a clear 
reference to the terms of the question though evaluation and 
analysis may be present, it will be unbalanced. There will be 
evidence of breadth or depth of knowledge and understanding 


5 
5 


 


AO 1 
AO 2 


 


 The information offered will display accuracy and sociological 
language will be used. At the upper end of this mark band, 
there may be specific reference to the terms of the question. 
There may be examples, but not detailed or well chosen.  
There may be reference to key studies these will not 
necessarily be precise or contemporary. 
 


The quality of written communication will be clear, with few 
errors of spelling, grammar and punctuation. 


  


 Level 4 breadth and Depth (9 - 10 marks) 
 


Nine marks are available for detailed answers that offer a 
specific and accurate knowledge of understanding of the 
media. The information offered will display accuracy and 
sociological language will be used.  
 


At the upper end of this mark band, understanding will be 
displayed through reference to the terms of the question.   
Answers will demonstrate a good application of knowledge 
with examples and specific factual evidence, perhaps with 
reference to theories and relevant studies.  
The quality of written communication will be good, with few 
errors of spelling, grammar and punctuation. 
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(c) Using sociological knowledge, discuss whether people are influenced by the media.
 [20] 


 
Look for answers that may offer specific discussion of audience theories. There may 
be reference to any relevant theories. Appropriate examples of stereotypes and 
representation from the recent media may be used to illustrate understanding and 
should be present. Credit answers which focus on using the key terms of the 
question well, or which take a wider but relevant approach. List-like and overly 
descriptive answers should not appear in the top two mark bands as the question 
specifies understanding of representation and there should be some understanding 
that certain social groups more vulnerable than others. 


 
Credit: 


 Accurate use of sociological language, concepts and theory, if relevant 


 Hypodermic syringe 


 Cultural effects 


 Uses and gratifications 


 Two step flow models 


 Moral panics 


 Exposure to different forms of media 


 Copycat violence 


 Bandura and experiments with Bobo doll 


 Applied examples that may have been studied in class 
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9(c) 
Level 1 – Limited (0 – 4 marks) 
 
Unacceptable answers will offer responses that display no 
evidence of knowledge or understanding of social structures, 
processes or issues. If some minimal relevant factual material 
is used then a mark is available. The quality of written 
communication will be basic. 
 
Level 2 Basic (5 - 10 marks) 
 


Five marks are available for basic answers that may address 
the question but that will be underdeveloped and vague. The 
information offered will be minimal and sociological language 
will not be used.  
 


At the upper end of this mark band, there may be specific 
reference to a variety of representations, but not explained or 
developed. Examples may be present but these will be basic 
and perhaps inappropriately applied. The quality of written 
communication will be acceptable, although there may be 
errors of spelling and punctuation. 
 
Level 3 Breadth or Depth (11 - 15 marks) 
 


Eleven marks are available for answers that offer a clear 
reference to specific and clearly identified understanding of 
media influence and the social construction of the news 
though there may be uneven or underdeveloped responses. 
Descriptive but detailed accounts of one or more theories or of 
examples will be in this mark band. 
 


5 


5 


10  


AO 1 


AO 2 


 
The information offered will display accuracy and sociological 
language will be used. At the upper end of this mark band, 
there may be specific reference to case studies or to media 
reporting f the news. The quality of written communication will 
be clear, with few errors of spelling, grammar and punctuation. 
 


  


 
Level 4 Breadth and Depth (16 -20 marks) 
 


Sixteen marks are available for detailed answers that offer a 
specific and accurate knowledge of understanding of media 
theory and audience reaction linking these ideas to explicit 
and relevant examples. The information offered will display 
accuracy and sociological language will be used.  
 


At the upper end of this mark band, understanding may be 
displayed through contrasting and comparative reference to 
theories or examples, perhaps with evaluative and analytical 
observations that explicitly point out that some theories are 
more realistic  than others. Candidates may even question the 
significance of media values and ideology, albeit in an implicit 
fashion. Answers will demonstrate a good application of 
knowledge with examples and specific factual evidence. The 
quality of written communication will be good, with few errors 
of spelling, grammar and punctuation. 
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Sticky Note

This section lacks relevance to the question which is about patterns of ownership rather than selection and type of media content.



Sticky Note

Here the candidate makes a potentially relevant point about the potential democratisation of media ownership, but does not back this up with detail.



Sticky Note

Six marks out of ten were awarded The Marxist section created some depth but the essay lacked real depth and had very little breadth.
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One factor identified.
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Consideration of the consumers is made clear here.
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Seven marks out of ten awarded. The essay has some breadth in the range of issues considered which affect how editors choose news stories. Further depth was needed and more sociological language would have helped.







Highlight



Highlight



Highlight



Highlight



Highlight



Sticky Note

Main arguments made clear.



Highlight



Highlight



Highlight



Highlight



Highlight



Sticky Note

Clear explanation and case study.







Sticky Note

Criticisms question the usefulness of the Hypodermic syringe model.



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight







Highlight



Highlight



Sticky Note

Good evaluation keeps a critical edge.



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight







Sticky Note

Summary paragraph draws things together. There was lots of sociological content in this essay and four main theories about the media effect. The candidate had rehearsed this response well, but could have done even better with more of their own examples.

However, this was seen as possessing enough breadth and depth fat GCSE level for 18 marks. 
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SECTION B


Answer parts (a), (b) and (c) of one of the following questions.


Question 9	 Mass Media


	 (a)	 Describe patterns of ownership of the media in Britain.	 [10]


(b)	 Explain reasons why editors choose some news stories rather than others.	 [10]


(c)	 Using sociological knowledge, discuss whether people are influenced by the media.	[20]
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